Avogadro’s Number:
Standard Pressure:

Gas Constant:
Acceleration due to gravity:

Faraday Constant:
Water Hydrolysis Constant:

Useful Constants

6.022 140 76 x10% mol*
1 atm = 760 torr = 101325 Pa = 760 mmHg (approx.)
1 bar = 100,000 Pa (exactly)
R =0.082057366 L-atm/mol-K = 8.314462618 J/mol-K
= 62.36359822 L-torr/mol-K = 0.08314462618 L-bar/mol-K
9.80665 m/s?
1 mole electrons = 96485.33212 coulombs
Kw = 1.00 x 10" at 25°C

Useful formulae

AE =q+ w; w =-PAV

AH = AE + PAV = AE + AnNRT

AG° = AH? — TAS® = —RTInK = —nFe€° (where K is the equilibrium constant)

o= KR n (2) = (437)« (572): 0 () = (552) = (52)

AG = AG° + RTInQ (where Q is the reaction quotient)

_ MM, J

Raoult’s Law: Pyor = XyP4 + XpPg; Trouton’s rule: AS,, = ~ 88

Nernst Equation:

Zero Order Reaction:
1%t Order Reaction:

2" Order Reaction:

Arrhenius Equation:

Freezing Point Depression/Boiling
Point elevation:

L« is the van’t Hoff factor

Thbp mol-K

RT
_ 0
€cell = €cell — n_Fan

€cell = €cerl — 0.0591%9 logQ at 25°C
[Alo - [A]t = kt
[Alo) _
lrll ([A]t)1 = kt
W, TR

_Ea
k = Ae’rt (A'is the pre-exponential factor)

n(52) = ()= (57)
") = R)* U,

AT = iKimY/ AT = iKpm




